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Weekly Quiz (12th June- 18th June) 
 

Q 1. Consider the following statement: 

Statement I: CEPA signed between the Government of the United Arab Emirates (UAE), Government of 

Qatar and the Government of the Republic of India (India). 

Statement II: CEPA is expected to have a major impact on trading between India, the UAE and the wider 

Gulf Cooperation Council (GCC) region. 

Which one of the following is correct in respect of the above statements? 

a) Both Statement I and Statement II are correct and Statement-II is the correct explanation for 

Statement-I 

b) Both Statement-I and Statement-II are correct and Statement-II is not the correct explanation for 

Statement-I 

c) Statement-I is correct but Statement-II is incorrect 

d) Statement-I is incorrect but Statement- II is correct 

 

Q 2. Consider the statement, “a sounding rocket launched named Rohini Mk-II was launched in November 

1997”. Which of the following is place is related to the statement given above? 

a) Svalbard  

b) Thiruvananthapuram  

c) Peenemünde  

d) None 

 

Q 3. Consider the following statements: 

Statement I: A celt can serve as an axe, chisel, or adze, and was commonly used during the Neolithic period 

for various purposes such as woodworking, farming, and construction. 

Statement II: Recently, a celt was found from the Mesolithic age. 

Which one of the following is correct in respect of the above statements? 

a) Both Statement I and Statement II are correct and Statement-II is the correct explanation for 

Statement-I 

b) Both Statement-I and Statement-II are correct and Statement-II is not the correct explanation for 

Statement-I 

c) Statement-I is correct but Statement-II is incorrect 

d) Statement-I is incorrect but Statement- II is correct 

 

Q 4. Which of the following best suits the word HIMADRI? 

a) India’s Polar Research Station. 

b) Double Taxation Avoidance Agreement between India and Norway 

c) India’s first underwater moored observatory in the Arctic 

d) None of the Above 
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Q 5. Consider the following statements regarding the Tropical Cyclone: 

1. The primary source of energy that drives the intensification of a tropical cyclone is Latent heat 

release. 

2. These cyclones Rotate in a counter clockwise direction in the Northern Hemisphere. 

3. Tropical cyclones have a cold core, while extratropical cyclones have a warm core. 

How many of the given statements are correct? 

a) Only one 

b) Only two 

c) Only three 

d) All four 

 

Q6. Consider the following International Organisation: 

1. European Wind Energy Association (EWEA)  

2. Canadian Wind Energy Association 

3. American Wind Energy Association (AWEA) 

4. Global Wind Energy Council (GWEC) 

How many organisation came together to establish the Global Wind Day? 

a) Only 1 

b) Only 2  

c) Only 3 

d) All of them 

 

Q 7.  Consider the following statements in regards to Uniform Civil Code: 

Statement I: Article 44 of the Constitution makes UCC enforceable. 

Statement II: Article 37 of the Constitution itself makes it clear the DPSP “shall not be enforceable by any 

court”. 

Which one of the following is correct in respect of the above statements? 

a) Both Statement I and Statement II are correct and Statement-II is the correct explanation for 

Statement-I 

b) Both Statement-I and Statement-II are correct and Statement-II is not the correct explanation for 

Statement-I 

c) Statement-I is correct but Statement-II is incorrect 

d) Statement-I is incorrect but Statement- II is correct 

 

Q 8. Consider the following statements about Consumer Food Price Index: 

1. CFPI only includes prices of raw food materials. 

2. CFPI is a measure of overall consumer price inflation. 

3. CFPI is useful for Monitoring the cost of living for consumers 

4. A higher CFPI indicates Increasing food prices 

How many of the above statement are correct for CFPI? 

a) Only one 

b) Only two 

c) Only three 
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d) All of the above 

 

Q 9. Consider the following statements about Wholesale Price Index (WPI)? 

1) The main objective of WPI is monitoring price drifts that reflect demand and supply in 

manufacturing, construction and industry. 

2) It is an important measure to monitor the dynamic movement of prices. 

Which of the given statements are correct? 

a) Only 1 

b) Only 2 

c) Both of them 

d) None of the Above 

 

Q 10. Consider the following: 

1. Ministry of Information and Broadcasting 

2. Ministry of Women and Child Development (MoWCD) 

3. Ministry of Human Resource Development (MHRD) 

How many of the above-given organisation has launched the Poshan Tracker App 

a) Only one 

b) Only two 

c) All of the above 

d) None of the above 

 

Q 11. Consider the following statement: 

1. 102nd Constitution Amendment Act, 2018 provides constitutional status to the National Commission 

for Backward Classes (NCBC). 

2. 102nd Constitution Amendment Act added Articles 338B and 342A of the Indian Constitution. 

3. The 102nd Indian Constituent Amendment Act, Article 366 was also amended to include the words 

“socially and educationally backward classes” to define the backward classes deemed by the Central 

Government and States and Union Territories of India. 

How many of the above given is/are correct? 

a) Only one  

b) Only two 

c) Only three 

d) None of the above 

 

Q 12.  Which of the following are associated with SUIT: 

a) Semiconductors 

b) Telescope 

c) Telecom 

d) AI 
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Q 13. Which of the following best defines Cyclone Biparjoy? 

1. Biparjoy’ was suggested by Bangladesh and the word means ‘disaster’ or ‘calamity’ in Bengali.  

2. It is an extra-tropical cyclone. 

3. It was developed in the Arabian Sea 

How many of the above given is/are correct? 

a) Only one 

b) Only two 

c) Only three 

d) None of the above 

 

Q 14. Which of the following is correct about Stem cells? 

a) Stem cells can divide over and over again to produce new cells. 

b) Stem cell cannot divide over and over again to produce new cells. 

c) They cannot change into the other types of cell. 

d) None of the above 

 

Q 15. Which of the following communities belongs to Himachal Pradesh? 

a) Turup Kapu 

b) Majhra 

c) Lingayat 

d) Bhoyar 


